4458

895

21



21

120 0.8
1
7
58
5
42
R3 R2 R3 R2 R3 R2
A B C=A-B D E F=D-E G H =G-H I/H
20 20 0 1 1 0 21 21 0 0.0
1 1 0 6 6 0 7 7 0 0.0
5 5 0 5 5 0 0.0
30 30 0 18 18 0 48 48 0 0.0
6 6 0 33 34 1 39 40 1 2.5
62 62 0 58 59 1 120 121 1 0.8
2 2
1 5 20 1 5 2

19




957 47 24 77 2.5
l 7,123
1,644
1,272
2,325
753
1,129
42,647
44.6
607
0.6
R3 R2 R3 R2 R3 R2
A B lceA-B|l D E |FrD-E]l © H | I=G-H I/H
41112| 40350 762|125 81 44| 41237] 40431] 806 2.0
196| 165 31] 411|388 23] 607 553 54 9.8
4133| 4515| 382 4133] 4515] 382 8.5
41049| 40733|  316] 1598 1558 40| 42647] 42291| 356 0.8
1916 1505] 411] 5207] 8920 3722] 7123| 10434 3311] 317
88,406| 87,268| 1138] 7,341| 10956 3615] 95747] 98224 2477 25




67 19 38
0.6
R3 R2
(A) (B) (A) (B)
52 49 101 52 54 106 0 5 5
©3.9%)| (94.2%)| (88.6%)| (83.9%)| (100.0%)| (91.4%)
7,287 118 | 7,405 | 7,225 105 | 7,330 62 13 75
10 3 13 10 0 10 0 3 3
@6.1%)| (.80 @14w| @e6.1w| (©.0%)| (8.6%)
675 11 686 649 0 649 26 11 37
62 52 114 62 54 116 0 2 2
6,612 107 | 6719 6576 105 | 6,681 36 2 38
R3 120 6 R2 121 5
R3 R2 R3 R2 R3 R2
A B C=A-B D E F=D-E G H I=G-H [J I/H
3,524 3,263 261 1 4 3 3,525 3,267 258 7.9
0 0 0 23 22 1 23 22 1 4.5
225 220 5 225 220 5 2.3
3,184 3,468 284 10 10 0 3,194 3,478 284 8.2
129 65 64 73 69 4 202 134 68 50.7
6,612 6,576 36 107 105 2 6,719 6,681 38 0.6




463 27 3 68 0.8
654
668
481
88
385
16,011
345
1,338 220
2.9 05
R3 R2 R3 R2 R3 R2
A B [c=A-B|] D E |FD-E| G H [ I=G-H I/H
26,429| 26,464 35 53 53 0] 26482] 26517 35 0.1
147| 132 15 73 78 5] 220 210 10 4.8
1338] 1408 70 1338] 1,408 70 5.0
15665| 15569 96 346 346 0] 16,011] 15915 96 0.6
719] 699 20] 1557] 1210] 3470 2276] 1909] 367] 192
44,298 44,272 26] 2,029 1,687 342] 46,327] 45,959 368 0.8




348 94 11 56 3.2
17,230
14,431 o4
413

R3 R2 R3 R2 R3 R2
A B C=A-B D E F=D-E G H I=G-H I/H
17174] 15997] 1177 56 21 35] 17230] 16,018] 1212 7.6

0 0 0 24 0 24 24 0 24

287 229 58 287 229 58 25.3
14,220] 13,400 820 210 180 30] 14,430] 13,580 850 6.3
1,148 619 529 17751 5604] 3829] 2923] 6,223 3,300 53.0
32,829 30,245] 2,584] 2,065] 5,805 3,740] 34,894] 36,050 1,156 3.2




135 31 17 96 11.7
R —
431
33
738
17
94
6,877
225
1.7
R3 R2 R3 R2 R3 R2
A B [C=AB| D E |FD-E] G H |I=G-H]J I/H
5084| 5,060 24 32 12 20] 5116] 5072 44 0.9
0 0 0 0 0 0 0 0 0 0.0
225| 512| 287 225| 512  287| 560
6,793 6,703 90 84 72 12| 6877] 6775 102 15
440] 250 190 873] 2718] 1845] 1313] 2968 1655 5538
12,542| 12,525 17] 989 2802| 1813] 13531] 15327| 179| 117




3,026 1 113 79 3.6

2,510
5,156
6,130

784
2,000

97,842
32.3

302,601
100.0

455
0.1

—
14,141

4.7

R3 R2 R3 R2 R3 R2
A B C=A-B D E F=D-E G H =G-H|J I/H
97.616] 99.869] 2253 226 219 7] 97.842]100,088| 2,246 2.2
347 356 9 108 124 16 455 480 25 5.2
14141] 15,080 939 14141] 15,080 939 6.2
166,321] 173297 6976] 7.262] 7,900 638] 173,583] 181,197 7,614 4.2
2583] 2,343 240) 13997 14,792 795] 16,580] 17,135 555 3.2
281,008]| 290,945] 9,937] 21,593| 23,035] 1,442] 302,601} 313,980] 11,379 3.6




217 53

77

3.0

R3 R2 R3 R2 R3 R2

A B C=A-B D E F=D-E G H I=G-H I/H
4120] 4458 338 15 10 5] 4135] 4468 333 7.5
31 25 6 135 116 19 166 141 25 17.7
1641 1837 196 1641 1837 196 10.7
12,258| 12,493 235) 1061 1,056 5] 13,319] 13,549 230 1.7
660 319 341] 1832] 2116 284] 2492 2435 57 2.3
18,710] 19,132 422] 3,043] 3,298 255] 21,753] 22,430 677 3.0




